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QUESTION 1

What are two organization permission types? (Choose two.) 

A. Full 

B. Read-only 

C. Monitor-only 

D. Write 

E. Write-only 

Correct Answer: AB 

Reference: https://documentation.meraki.com/General_Administration/Managing_Dashboard_Access/Managing_Dashb
oard_Administrators_and_Permissions 

 

QUESTION 2

One thousand concurrent users stream video to their laptops. A 30/70 split between 2.4 GHz and 5 GHz is used. Based
on client count, how many APs (rounded to the nearest whole number) are needed? 

A. 26 

B. 28 

C. 30 

D. 32 

Correct Answer: C 

 

QUESTION 3
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Refer to the exhibit. Assuming this MX has established a full tunnel with its VPN peer, how will the MX route the WebEx
traffic? 

A. WebEx traffic will prefer WAN 2 as long as it meets the thresholds in the "Conf" performance class. 

B. WebEx traffic will prefer WAN 1 as it is the primary uplink. 

C. WebEx traffic will prefer WAN 2 as long as it is up. 

D. WebEx traffic will be load-balanced between both active WAN links. 

Correct Answer: A 

 

 

QUESTION 4

What are two ways peers interact with ports that Auto VPN uses? (Choose two.) 

A. For IPsec tunneling, peers use high UDP ports within the 32768 to 61000 range. 
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B. Peers contact the VPN registry at UDP port 9350. 

C. For IPsec tunneling, peers use high TCP ports within the 32768 to 61000 range. 

D. Peers contact the VPN registry at TCP port 9350. 

E. For IPsec tunneling, peers use UDP ports 500 and 4500. 

Correct Answer: AB 

Reference: https://documentation.meraki.com/MX/Site-to-
site_VPN/Meraki_Auto_VPN_-_Configuration_and_Troubleshooting 

 

QUESTION 5

Which information do the MXs in a High Availability pair share? 

A. spanning-tree state 

B. time synchronization state 

C. DHCP association database 

D. stateful firewall database 

Correct Answer: C 
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